* SB12EJTRAFIES1IZVRE *

INEELZTF
1 2 3 4 | e tyh J—1A B 1 2 3 4 wsl e tyh Gr=Ih B
A JOvy DN R | AR Sei| RE 39 CIEIEEIESE C Jowy =R mEE | ST Ve | L)1 Rz CIESEEIESE
1 Cc|1
INeE R X — — — =R [z X — — —
2 C|2
U Seig — X — — HITE /IME — X — —
3 Cc|3
FHE 99 — — X — W % — — X
4 cl4
— — — X — — — X
‘ 1aE 1 2 _3w 4 el tyh i F—1I I ‘ 1 2 3 4 Bl twh i =1k B
B 'Ov% Aipk Stz | =0 | R CIESEIEEIESES D JOvy CIESEECIESES
1 D|1
Kipk St X — - — 2 - - X
2 D|2
=H AR — X — — _ % %
3 D |3
ot 2 — — P — — X X —
4 D |4
— — — X X — — X




* B12EITRAFHES 1"V KE *
INEELT




